PU1_dat := READPRN("corebandl_PU.dat") KR1_dat := READPRN("corebandl_KR.dat")

PU2_dat := READPRN(("coreband2_PU.dat") KR2_dat := READPRN ("coreband2_KR.dat")
PU3_dat := READPRN ("coreband3_PU.dat") KR3_dat := READPRN (("coreband3_KR.dat")
PUloop_dat := READPRN ("planar.dat") KRIloop_dat := READPRN ("planar.dat")
Bpu:=6 Bkr:=6 fo := 628887 Afo:= 15 pc := 8801 d := 31.598
-19 .
g := 1600 emit := 2 NF := 3.0 fc:=6

2
- k
gnorm(ge, Idc, rt_pu, rt_kr,f) := geﬁE}/_thJ)umt_krD]dcﬂO 35 fo 50 1 5 VPP ELBBr
2 Afa®10° per10°  drio

k := 0..rows(KRloop_daf) — 1

1 300 1
S(ge,Idc, rt_pu,rt_kr,f) := KRloop_d := KRloop_d E 20
(o —pu ke ) 1+ gnorm(ge, Idc, rt_pu, rt_kr,f) P_dak,3 P_dak,3 4[ﬂcmiQ/_ \DT KRloop_datk, 0[]
-

fc [l

ge_opt(ldc,PU_data,KR_data) := | Zmax ~ 0
imax — 0
for i0O0..rows(PU_data) — 1
if PU_datg 3(KR_data 3 > Zmax
Zmax — PU_datg  3(KR_dataj 3
imax « i
gopt gnorm(l, Idc, PU_datgimax, 3, KR_dataimax, 3, KR_dataimax, O)

1
gopt « ——
gopt




data range(pu_data) :=

npt — rows(pu_data)

vmax « 0

icent — O

for i00..npt-1

if vmax < pu_data; 3

vmax — pu_dataj 3
icent — i

imax  icent

i« icent

while i < npt-1

pu_dataimax, 3

pu_datdjcent, 3

i «npt—1 if vratio< 0.1

vratio —

otherwise
i—i+l

imax < imax +1

imin « icent

i« icent

whilei > 0

pu_datajmin, 3
pu_datajcent, 3
i «0 if vratio< 0.1

vratio —

otherwise
ici-1

imn — imin-1
irangeg — imin
irange1 — imax

irange



3 Ppul@mit 9
6ld

gopt — ge opt(ldc,rt_pu,rt_kr)

0 ldc [
- thl1- |1-—
9 - goptl] / opt ]

(- 174+NF+90)

kT<10  ©  rooug?

irange — data_range(rt_pu)

Sbeam(rt_pu, rt_kr,Idc, lopt) := | coeff — 4[GIdc10 tELO

for ii00..irange1 - irangeg

datajj, 0 — rtJ3“ii+irangeb, 0

2
dataji, 1 - Coeff[qru)uiiﬂranga), 3@E$(g ,1dc, rtJ)uii+irangez;), 3’ rt—krii+irangez;), 3’ rtJ)uii+irangez;), O))

data
e_const(rt_pu,rt_kr,ldc, lopt) := 200o \De opt(ldc, rt_pu,rt kr)mml— 1- ldCD\D
ge ¢ _pu,rt_kr,ldc,lopt) := QDQ_D ,J),_D opt 1

Power(rt_pu,rt_kr,ldc,lopt) := |data — Sbeam(rt_pu,rt_kr,Idc, lopt)
rows(data) -1

datarows(data)-1,0 — datap, 0
beam_power datak,lm( ows(datd) )

rows(data)
k=0
. rows(datg)~1 D(dattarows(o|ata) _1,0 - datag )
noise_power — datay , 2 rows(data)
k=0

powerg — beam_power
power] — noise_power

power




Imin:= 20 IOPT := 200

k :=0..100
: . k
IDCk := Imin + (IOPT = Imin)3—
100

Pby 0 := Power(PU1_dat, KR1_dat,|DC,IOPT)g
Pby 1 := Power(PU2_dat, KR2_dat,|DC,IOPT)g
Pby 2 := Power(PU3_dat, KR3_dat,|DCy,IOPT)g

Pok, 3 = Power(PUIoop_dat,KRIoop_dat, IDCk, IOPT)o

Ptk,0 := Pok,0+ Pnk, 0

Ptg,1:= Pok,1+Png 1

Ptg,2 := Pog, 2+ Png 2

Ptg,3 := Pok,3+Png 3

Pn 0 := Power(PU1_dat, KR1_dat,|DC,IOPT)1

Pn 1 := Power(PU2_dat, KR2_dat,|DCy, IOPT)1

Pn 2 := Power(PU3_dat, KR3_dat,|DCy, IOPT)

Pn 3 := Power(PUloop_dat,KRloop_dat, IDC,10PT)1

GE_constk o := ge_const{ PU1_dat,KR1_dat, IDCk, IOPT)

GE_conslk, 1 := ge_const

PU2_dat,KR2_dat, IDCk,10PT)

GE_consty 2 := ge_const{ PU3_dat,KR3_dat, IDCy, IOPT)

(
(
(
(

GE_consty , 3 := ge_const{ PUloop_dat, KRIoop_dat, IDC, IOPT)

Pt100,0 + Pt100,1 *+ Pt100, 2

Ptotal :=

Ptotal = 0.096

3

Ploop := Pt100,3

Ploop = 2.721



Beam Power for Constant Cooling Rate

10

//
//
w
g
‘a; 0.1 -
= A
g
_—/
// /
/
/
/ //
—
/
0.01
~ e
- _—
~ __—
/

e
110°

20 40 60 80 100 120 140 160 180 200

Beam Current (mA)

—— Band1

— Band2

—— Band 3

Planar



Power (Watts)
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Gain (dB)
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